
Ga-70
𝝀

= 𝟓, 𝟓 ∙ 𝟏𝟎−𝟒
𝟏

𝒔
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Neutronowa ličbaN

Mn-56
𝝀 = 𝟕, 𝟓 ∙ 𝟏𝟎−𝟓

𝟏

𝒔

Fe-57
stabilny

Co-58
𝝀 = 𝟏, 𝟏 ∙ 𝟏𝟎−𝟕

𝟏

𝒔

Ni-59
𝝀 = 𝟐, 𝟗 ∙ 𝟏𝟎−𝟏𝟑

𝟏

𝒔

Zn-61
𝝀 = 𝟕, 𝟖 ∙ 𝟏𝟎−𝟑

𝟏

𝒔

Ga-62
𝝀 = 𝟔, 𝟎

𝟏

𝒔

Ge-63
𝝀 = 𝟒, 𝟗

𝟏

𝒔

Cu-60
𝝀 = 𝟒, 𝟗 ∙ 𝟏𝟎−𝟒

𝟏

𝒔

Mn-57
𝝀 = 𝟖, 𝟏 ∙ 𝟏𝟎−𝟑

𝟏

𝒔

Mn-58
𝝀 = 𝟐, 𝟑 ∙ 𝟏𝟎−𝟏

𝟏

𝒔

Mn-60
𝝀 = 𝟏, 𝟒 ∙ 𝟏𝟎−𝟐

𝟏

𝒔

Mn-59
𝝀 = 𝟏𝟓𝟏 ∙ 𝟏𝟎−𝟏

𝟏

𝒔

Mn-61
𝝀 = 𝟏, 𝟎

𝟏

𝒔

Mn-62
𝝀 = 𝟕, 𝟗 ∙ 𝟏𝟎−𝟏

𝟏

𝒔

Mn-63
𝝀 = 𝟐, 𝟒

𝟏

𝒔

Fe-59
𝝀 = 𝟏, 𝟖 ∙ 𝟏𝟎−𝟕

𝟏

𝒔

Fe-60
𝝀 = 𝟖, 𝟒 ∙ 𝟏𝟎−𝟏𝟓

𝟏

𝒔

Fe-61
𝝀 = 𝟏, 𝟗 ∙ 𝟏𝟎−𝟑

𝟏

𝒔

Fe-62
𝝀 = 𝟏, 𝟎 ∙ 𝟏𝟎−𝟐

𝟏

𝒔

Fe-63
𝝀 = 𝟏, 𝟏 ∙ 𝟏𝟎−𝟏

𝟏

𝒔

Fe-64
𝝀 = 𝟑, 𝟓 ∙ 𝟏𝟎−𝟏

𝟏

𝒔

Co-59
stabilny

Co-60
𝝀 = 𝟒, 𝟐 ∙ 𝟏𝟎−𝟗

𝟏

𝒔

Co-61
𝝀 = 𝟏, 𝟐 ∙ 𝟏𝟎−𝟒

𝟏

𝒔

Co-62
𝝀 = 𝟕, 𝟕 ∙ 𝟏𝟎−𝟑

𝟏

𝒔

Co-63
𝝀 = 𝟐, 𝟓 ∙ 𝟏𝟎−𝟐

𝟏

𝒔

Co-64
𝝀 = 𝟐, 𝟑

𝟏

𝒔

Co-65
𝝀 = 𝟓, 𝟖 ∙ 𝟏𝟎−𝟏

𝟏

𝒔

Ni-60
stabilny

Ni-61
stabilny

Ni-62
stabilny

Ni-64
stabilny

Ni-63
𝝀 = 𝟐, 𝟐 ∙ 𝟏𝟎−𝟏𝟎

𝟏

𝒔

Ni-65
𝝀 = 𝟕, 𝟔 ∙ 𝟏𝟎−𝟓

𝟏

𝒔

Ni-66
𝝀 = 𝟑, 𝟓 ∙ 𝟏𝟎−𝟔

𝟏

𝒔

Cu-61
𝝀 = 𝟓, 𝟖 ∙ 𝟏𝟎−𝟓

𝟏

𝒔

Cu-62
𝝀 = 𝟏, 𝟐 ∙ 𝟏𝟎−𝟑

𝟏

𝒔

Cu-63
stabilny

Cu-65
stabilny

Cu-66
𝝀 = 𝟐, 𝟑 ∙ 𝟏𝟎−𝟑

𝟏

𝒔

Cu-67
𝝀 = 𝟑, 𝟏 ∙ 𝟏𝟎−𝟔

𝟏

𝒔

Zn-62
𝝀 = 𝟐, 𝟏 ∙ 𝟏𝟎−𝟓

𝟏

𝒔

Zn-63
𝝀 = 𝟑, 𝟎 ∙ 𝟏𝟎−𝟒

𝟏

𝒔

Zn-64
𝝀 = 𝟕, 𝟖 ∙ 𝟏𝟎−𝟐𝟓

𝟏

𝒔

Zn-65
𝝀 = 𝟑, 𝟑 ∙ 𝟏𝟎−𝟖

𝟏

𝒔

Zn-66
stabilny

Zn-67
stabilny

Zn-68
stabilny

Cu-64
𝝀

= 𝟏, 𝟓 ∙ 𝟏𝟎−𝟓
𝟏

𝒔

Ga-63
𝝀 = 𝟐, 𝟏 ∙ 𝟏𝟎−𝟐

𝟏

𝒔

Ga-68
𝝀 = 𝟏, 𝟕 ∙ 𝟏𝟎−𝟒

𝟏

𝒔

Ga-67
𝝀 = 𝟐, 𝟓 ∙ 𝟏𝟎−𝟔

𝟏

𝒔

Ga-66
𝝀 = 𝟐, 𝟎 ∙ 𝟏𝟎−𝟓

𝟏

𝒔

Ga-65
𝝀 = 𝟕, 𝟔 ∙ 𝟏𝟎−𝟒

𝟏

𝒔

Ga-64
𝝀 = 𝟒, 𝟒 ∙ 𝟏𝟎−𝟑

𝟏

𝒔

Ga-69
stabilny

Ge-64
𝝀 = 𝟏, 𝟏 ∙ 𝟏𝟎−𝟐

𝟏

𝒔

Ge-65
𝝀 = 𝟐, 𝟐 ∙ 𝟏𝟎−𝟐

𝟏

𝒔

Ge-66
𝝀 = 𝟖, 𝟓 ∙ 𝟏𝟎−𝟓

𝟏

𝒔

Ge-67
𝝀 = 𝟔, 𝟏 ∙ 𝟏𝟎−𝟒

𝟏

𝒔

Ge-68
𝝀 = 𝟑, 𝟎 ∙ 𝟏𝟎−𝟖

𝟏

𝒔

Ge-69
𝝀 = 𝟒, 𝟗 ∙ 𝟏𝟎−𝟔

𝟏

𝒔

Ge-70
stabilny
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Fe-58
stabilny

As-64
𝝀 = 𝟑, 𝟖

𝟏

𝒔

As-65
𝝀 = 𝟓, 𝟒

𝟏

𝒔

As-66
𝝀 = 𝟕, 𝟐

𝟏

𝒔

As-67
𝝀 = 𝟏, 𝟔 ∙ 𝟏𝟎−𝟐

𝟏

𝒔

As-68
𝝀 = 𝟒, 𝟔 ∙ 𝟏𝟎−𝟑

𝟏

𝒔

As-69
𝝀 = 𝟕, 𝟔 ∙ 𝟏𝟎−𝟒

𝟏

𝒔

Ge-71
𝝀 = 𝟕, 𝟎 ∙ 𝟏𝟎−𝟕

𝟏

𝒔

As-70
𝝀 = 𝟐, 𝟐 ∙ 𝟏𝟎−𝟒

𝟏

𝒔

Mn-64
𝝀 = 𝟏, 𝟏 ∙ 𝟏𝟎−𝟕

𝟏

𝒔

Mn-65
𝝀 = 𝟕, 𝟕

𝟏

𝒔

Mn-66
𝝀 = 𝟏, 𝟒 ∙ 𝟏𝟎𝟑

𝟏

𝒔

38n 39n 40n

Fe-65
𝝀 = 𝟓, 𝟑 ∙ 𝟏𝟎−𝟏

𝟏

𝒔

Fe-66
𝝀 = 𝟏, 𝟔

𝟏

𝒔

Fe-67
𝝀 = 𝟏, 𝟐

𝟏

𝒔

Co-66
𝝀 = 𝟑, 𝟖

𝟏

𝒔

Co-67
𝝀 = 𝟏, 𝟔

𝟏

𝒔

Co-68
𝝀 = 𝟑, 𝟓

𝟏

𝒔

Ni-67
𝝀 = 𝟑, 𝟑 ∙ 𝟏𝟎−𝟐

𝟏

𝒔

Ni-68
𝝀 = 𝟐, 𝟒 ∙ 𝟏𝟎−𝟐

𝟏

𝒔

Ni-69
𝝀 = 𝟔, 𝟏 ∙ 𝟏𝟎−𝟐

𝟏

𝒔

Cu-68
𝝀 = 𝟐, 𝟐 ∙ 𝟏𝟎−𝟐

𝟏

𝒔

Cu-69
𝝀 = 𝟒, 𝟏 ∙ 𝟏𝟎−𝟑

𝟏

𝒔

Cu-70
𝝀 = 𝟏, 𝟔 ∙ 𝟏𝟎−𝟐

𝟏

𝒔

Zn-69
𝝀 = 𝟐, 𝟎 ∙ 𝟏𝟎−𝟒

𝟏

𝒔

Zn-70
𝝀 = 𝟏, 𝟕 ∙ 𝟏𝟎−𝟐𝟒

𝟏

𝒔

Zn-71
𝝀 = 𝟒, 𝟕 ∙ 𝟏𝟎−𝟑

𝟏

𝒔

Ga-71
stabilny

Ga-72
𝝀 = 𝟏, 𝟒 ∙ 𝟏𝟎−𝟓

𝟏

𝒔

Ge-72
stabilny

Ge-73
stabilny

As-71
𝝀 = 𝟐, 𝟗 ∙ 𝟏𝟎−𝟔

𝟏

𝒔

As-72
𝝀 = 𝟕, 𝟒 ∙ 𝟏𝟎−𝟔

𝟏

𝒔

As-73
𝝀 = 𝟏, 𝟎 ∙ 𝟏𝟎−𝟕

𝟏

𝒔

As-74
𝝀 = 𝟒, 𝟓 ∙ 𝟏𝟎−𝟕

𝟏

𝒔

33p

Mn-55
stabilny

Fe-56
stabilny

Co-57
𝝀 = 𝟐, 𝟗 ∙ 𝟏𝟎−𝟖

𝟏

𝒔

Ni-58
𝝀 = 𝟓, 𝟓 ∙ 𝟏𝟎−𝟐𝟑

𝟏

𝒔

Zn-60
𝝀 = 𝟒, 𝟖 ∙ 𝟏𝟎−𝟑

𝟏

𝒔

Ga-61
𝝀 = 𝟒, 𝟏

𝟏

𝒔

Ge-62
njeznaty

Cu-59
𝝀 = 𝟖, 𝟓 ∙ 𝟏𝟎−𝟑

𝟏

𝒔

As-63
njeznaty

41n


